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1.

Which statement is not applicable to

objective type of questions ?
(A) More content can be covered.
(B) Correct measurement is possible.

(C) Quick and correct valuation is

possible.

(D) Measuring more than one

learning objective is possible.

‘Nothing succeeds like success’, this
statement is based on which law of

learning as propounded by Thorndike ?
(A) Practice

(B) Readiness

(C) Effect

(D) Recency

Which is not a sub-law of ‘Law of

Practice’ ?

(A) Law of Set
(B) Law of Use
(C) Law of Disuse

(D) Law of Recency

Contd.



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

6866 TEalkIGT G894 AR QI9Y
ARG ?

(A) 6@ @Iy

(B) d898& QORGIG BRISAI

(C) 9Q6LI0 Qas §94

(D) dalidiaoel

foalna  d66a  sRIGT QoW
QOUIE 6666
(A) 100

(B) 100 9 120
(C) 120 9 140

(D) 140 Q AU\

agasien daldig 9gel A 68Q
a6 Qasalsh g6g ?

(A) @8 a1

(B) dOINICIE Q9 AINNCRI

(C) d89eaa a946eId

(D) |61 Qo1

4.

WtsApp/Call- 8596976190

Which is the proper method of

remedial learning ?

(A) Home task

(B) Group discussion by the teacher
(C) Co-operative learning

(D) Practisation

According to Terman, what is the

intelligence quotient of gifted children ?
(A) 100

(B) 100to 120

(C) 12010 140

(D) More than 140

Which method is not useful for

identifying slow-learners ?

(A) Intelligence testing

(B) Interview with parents

(C) Observation by the teacher

(D) Achievement testing
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Which is an example of intrinsic
motivation ?
(A) Aspiration
(B) Praise
(C) Encouragement

(D) Prize

What type of evaluation should be
done to know if a child is fit for
admission into class VII ?

(A) Placement

(B) Formative

(C) Diagnostic

(D) Summative

What language should the teacher use
while teaching the scheduled tribe
students so as to meet their language

problems ?

(A) Pupils’ spoken language
(B) Standard language

(C) Book language

(D) Both book and spoken language

Contd.
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Which method is not

activity-based ?

learning

(A) Basic education method
(B) Laboratory method
(C) Play-way method

(D) Question-answer method

Which i1s not related to motor
learning ?

(A) Drawing
(B) Imitation
(C) Cycling

(D) Typewriting

Why is there dual-class teaching

system in elementary schools ?

(A) Want of class-rooms

(B) Making the teachers more active

(C) Less number of teachers in

proportion to the number of classes

(D) Maintaining discipline
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“Natural response to a stimulus can
be associated with another stimulus.”
Which learning theory is related to
it ?

(A) Conditioning

(B) Trial and error

(C) Insightful

(D) Instrumental conditioning

Which one of the following is wrong ?

(A) Development is a lifelong
process.

(B) Development always takes place
uniformly.

(C) Development is individualistic.

(D) Development does not stop at

maturation.

Mental health of the child is

influenced by which one ?
(A) Parents’ aspiration
(B) Teacher’s behaviour
(C) Peer behaviour

(D) All of these
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Whole and part learning concept is

based upon which learning theory ?
(A) Trial and error

(B) Insightful

(C) Field theory

(D) Instrumental

Which one is helpful in developing

creativity ?

(A) Writing different uses of a piece
of brick.

(B) Writing a sentence ten times.

(C) Working out ten addition

problems.
(D) Counting the alphabets in a

sentence.

What is inclusive education ?

(A) To teach by integrating all subjects.
(B) To teach all categories of
learners together according to
their needs.

(C) To teach different categories of

learners in different groups.

(D) To make provision of formal

learning for all.
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Which one is a teacher-centred

teaching-learning process ?

(A) Teacher works as a facilitator of
learning.

(B) Teacher explains with the help
of teaching-learning materials.

(C) Teacher supervises learning
activities.

(D) Teacher helps the learner to
gather experience.

Which one is not related to

competency-based teaching-learning ?

(A) A lesson is divided into some
smaller units.

(B) Competencies are  arranged
serially from simple to complex.

(C) Each competency is based on

previous competency.

(D) Teaching-learning of all
competencies is done

simultaneously.

In what type of questions the
possibility of guessing is the least ?
(A) Completion type

(B) Yes/No questions

(C) Four-option type

(D) Answering in a single sentence
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What type of questions are asked at

the last step of teaching in a period ?
(A) Placement

(B) Diagnostic

(C) Summative

(D) Formative

Which one is not a tool of

observation ?

(A) Anecdotal record
(B) Achievement test
(C) Rating scale

(D) Check list

Which one is not a free response

type question ?

(A) How many gases are released by

a tree during day time ?

(B) Describe the functions of leaf.

(C) Write the uses of water.

(D) Explain how a piece of stick can

be used.
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Which factor of the teaching-learning
process is influenced by educational
psychology ?

(A) Teaching method
(B) Learning experience
(C) Evaluation

(D) All of these

Which one
development of the child ?

influences the

(A) Teacher’s behaviour towards the
child

(B) Parent’s behaviour towards the
child

(C) Peer influence on the child

(D) All of these

What should the teacher do to correct
the mistake committed by the child

during teaching-learning process ?
(A) Punish the child
(B) Correct the mistake indirectly.

(C) Correct the mistake through

other students.

(D) Correct the mistake immediately

in the class-room.
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At what stage of intellectual

development, does problem solving

ability of the pupil take place ?
(A) Sensory motor

(B) Pre-operational

(C) Concrete operational

(D) Formal operational

The mental age of a 10 years old
learner is 10 years. To what class the
learner belongs ?

(A) Less intelligent

(B) Average intelligent

(C) High intelligent

(D) Very low intelligent

Which statement is not applicable for

‘education’ ?

(A) Education 1is a goal-directed

process.
(B) Education is a lifelong process.

(C) Education 1s a behaviour

modification process.

(D) Education is only a formal

process.

P.T.O.
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ENGLISH
61. The boy is both clever and 64.
handsome. Itisa _____ sentence.
(A) simple
(B) complex
(C) compound
(D) 1mperative
62. Mr. Das lives . 65.
(A) on upstairs
(B) upstairs
(C) 1in upstairs
(D) above upstairs
66.
63. Dividing a sentence into sense
groups while reading is called :
(A) chunking
(B) cluster
(C) stroke
(D) intonation

37
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Teaching of English in India as a
second language has been very

important and inevitable since :

(A) India is a multilingual nation.
(B) Indian language books are
mostly written in English.

(C) English is a foreign language.
(D) English is a link and

international language.

The substitution table in teaching
English is associated with

stage.

(A) introduction

(B) presentation

(C) comprehension

(D) application

You are a teacher and doing free

composition in class-IV.  Your

activity will result in :

(A) making a number of mistakes
by the children.

(B) discouraging children from
writing further.

(C) increasing correction work for
the teacher.

(D) All of these.
P.T.O.
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SET1:[A]

67.

68.

69.

Chorus reading in teaching a poem is

done usually :

(A) before introducing the poem.
(B) after the introduction.

(C) during teaching the lesson.

(D) at the end of the lesson.

Put ‘v’ mark / ‘X’ mark in the box if

the statement is RIGHT/WRONG.

(1) Liquids do not have definite shape. |:|

(i) Ice is lighter than water. []

The test item inside the box i1s .
(A) Recall type

(B) Recognition type

(C) Matching type

(D) Completion type

The aim of

teaching English

language is to acquire the knowledge

of
(A) grammar
(B) words and phrases

(C) sentences

(D) language skills

70.

T4k

72.

WtsApp/Call- 8596976190

OTET/1/15

Task : Fill in the blanks choosing the

suitable words.

(i) I want a cup of coffee.

(strong/powerful)

(i) Heis a smoker. (heavy/big)

The task in the box tests the learner’s

ability in :

(A) spelling

(B) pronunciation
(C) collocation

(D) idiomatic use

The closing phrase of a formal letter

1.

(A) Your’s faithfully
(B) Yours Faithfully

(C) Your’s Faithfully

(D) Yours faithfully

Which is not a sub-skill of speaking ?
(A) Inefficiency

(B) Accuracy

(C) Fluency

(D) Naturality

1 Mantd
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o L
73. He gave me useful book. 77. Mr. Patel is a doctor.

(A) a (B) an (A) young handsome tall Indian

(C) the (D) some (B) Indian handsome young tall

(C) handsome tall young Indian
74. We have a holiday Christmas. (D) handsome young tall Indian

(A) on (B) in
78. Which of the following is correctly

(©) at (D) for punctuated ?

(A) Oh God, save me.

Down went the bell with a gurgling sound. (B) OhGod!Save me.

OH @ 06 (4)

T
(C) Oh God. Save me.

Which part of the above sentence (D) Oh God save me.

functions as the subject ?

(A) 1 (B) 2 79. She has been living here
(A) for four years
<€ 3 (D) 4
(B) since four years
(C) from four years
76. Priya: ___Icome in, Sir ? (D) since the last four years

Teacher : Yes, Priya, why are you so late ?

(A) Wil 80. _ were absent.
(A) He,I& you
(B) shall (B) You,he &1
(€ May (©) 1, he & you
(D) Might (D) You,I&he

39 P.T.O.
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SET:| A

Read the passage carefully and answer the

following (5) five questions from 81 to 85
choosing the correct alternatives given.
chief

education available to Tagore, was a quiet

Among  the sources of
garden, adjoining his family house. Here,
he used to spend much of his time
absorbing the peace and beauty of nature.
It was through this early contact with the
nature, he acquired that serenity of mood
which distinguished him all his life. It was
in this garden too that he came to
understand that principle of harmony was
at work throughout the universe. At the
the habit of

observing and reflecting on things.

same time, he formed

81. Tagore spent much of his time in the
garden adjoining his family house
(A) plucking flowers and enjoying
their smell.
(B) loitering and singing.
(C) enjoying natural peace and
beauty.

(D) sleeping and dreaming.

82. By spending most of his time in the
garden Tagore developed the habit of.
(A) meditating everyday
(B) taking life easy
(C) being
thoughts

absorbed in poetic

(D) observing things carefully

40

83.

84.

85.

WtsApp/Call- 8596976190

OTET//15

To the great poet, the garden
adjoining his family house was a

(A) convenient playground.

(B) source of pleasure and
entertainment.
(C) beautiful place for writing

poetry.

(D) means of education.

The garden adjoining to the poet’s

family house is described as.
(A) noisy

(B) Dbeautiful

(C) quiet

(D) thrilling

The phrase ‘serenity of mood’ in the
passage means mood.
(A) calm and quiet

(B) angry

(C) rivalry

(D) retaliating
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OTET/I/15 SET: | A
Read the passage given below and answer 87. The dyes are added _____
the questions (86 to 90) that follow (A) after the pulp passes through
selecting the most appropriate alternative the screen.
for each. (B) after the fibre is released.

Most paper comes from wood. First (C) after cutting the wood into
trees are cut down and the logs are taken to pieces.
the paper mill. There, the logs are washed (D) after the pulp is fed into a

and cut into small pieces. These pieces are paper-making machine.
then put into ‘pulp digesters’ where they

are broken down by steam and chemicals.

This process releases wood fibre. This is 88. Apump

mixed with dyes to form wood pulp which (A) spreads the paper pulp on the

1s then passed through screens to remove wire screen.

the hard pieces which have not dissolved. (B) removes the hard pieces of
The wood pulp is fed into a paper- wood.

making machine. A pump sprays a thin (C) flattens the paper.

F f the liquid pe Ip into ¢ ing
ayer of the liquid paper pulp into a moving (D) adds dyes to the wood pulp.
wire screen.

As the pulp is carried along by the
screen, the water in it slowly drains and the 89.  The heated rollers are used

wood pulp slowly forms into paper. After (A) to bundle the paper
this, the wet paper is passed through heated (B) to cut the paper
rollers which press and dry it. The dried

paper is rolled into huge bundles and sent (€) o dry the paper

out for various uses. (D) to dye the paper
86. When the logs first arrive at the mill, 90. The passage describes the process of
(A) they are cut into small pieces (A) making wood pulp
(B) they are put into pulp digesters (B) chopping trees into logs
(C) they are washed (C) releasing wood fibres from
(D) they are passed through the paper pulp
screens (D) making paper from wood
41 P.T.O.
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(MATHEMATICS)
91. a2-3a+1=06Q6m, a’ +%a ol 91. Ifa’ —3a + 1 = 0, then what is the
g
l
‘ . o P )
8660 7 value of a° + ;13 !
(A) 15 (B) 18 (A) 15 (B) 18
(C) 21 (D) 24 © 21 (D) 24
92 l + I Q AR 660 7 92. What is the value of Ny — +
" l4agt—m | 4gm-n - | 4gn—Mm
(A) 1 (B) 1.5 ;_?
1 + 2"
<© 2 (D) 25 A 1 (B) 1.5
C2 (D) 25
93. G64 6QIRIGT 66lIEN @%@ k3t 93. A shopkeeper marks on the article
MY QU69 30% QIR QIF 6%}@1@; bought by him at 30% above the cost
3 10% @Q@ 508 5%@ a6 price and allows a discount of 10%
= while selling it. What percentage of
@ | 606@ 64 dO@El 6@6C
A profit he gets ?
e Al |
1
| (A) 10 % (B) 125 %
(A) 10% (B) 125 %
1
1 © 15 % D) 17%
(©) 155% (D) 17%
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9.

95.

96.

(x — 3) 24 AR QA (2x + 1)
0069 @Rl @lidia afslid
3B 2x+ 1) 24 AR QIA (x + 4)
0R69 21N RIIQ AAN6R

AQale 3 : 10 6Q6R, x @ A9
860G ?

(A) 3 (B) 6

{€) 9 (D) 12

1728 @ QR9R 3 289 Q QIR

QE9RR URA 676C ?

(A) 5 B) -5

© 29 (D) -29

60N QI QAgIAC x 8.9, 6Q616Q,
. Qa0 G

y agiea z &.9. @

f6Q | AR QRSe Taagea
RN 66Q6 08 Q6Q °

1 iy
(B) xe=(2E
(B) xoz(y@o)

(C) yo<z(xgN
D) x<y(zg

9.

95.

96.

WtsApp/Call- 8596976190

SET:| A

If the work done by (x — 3) men in
(2x + 1) days and the work done by
(2x + 1) men in (x + 4) days are in
the ratio 3 : 10, then what is the value

ofx ?

(A) 3 (B) 6

£y 9 (D) 12

What is the difference between the
cube root of 1728 and negative

square root of 289 ?
(A) 5 B) -5

<© 29 (D) -29

A vehicle, moving with a speed of
x km/hr. covers z km in y hours.
Which of the following is not correct

in respect of the statement ?
1. .
(AF xse ; (z 1s constant)

(B) x o< z(y is constant)
(C) yeocz(xisconstant)

(D) x o<y (zis constant)

Q<P RIAAD die /SPACE FOR ROUGH WORK



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

98.

Download Tech Of World App

— L=-— 1

97. 6@6C AMUA QLR QIT@  10%

Qasa 2 edq 928 gu A
3 @d 9698 gQu ¥ 121.00 2T
6Q9 ?

(A) % 1,000
(B) %1200
(C) % 1,500
(D) 2,000

@a §069 A PQR @ ZQPR § PL

ANIQ6eg @6Q ¥8°L G9 QR QU6Q
dege | 98 mZQ = 70° 9@°
mZLPR = 28° @4, 666@ msPLQ

Ea6e ?

(A) 52°
(B) 56°
(C) 68°
(D) 82°

97.

98.

WtsApp/Call- 8596976190

On what principal at the rate of 10%
per annum, the difference between
the compound interests for 3 years

and 2 years is ¥ 121.00 ?
(A) T 1,000
(B) % 1,200
(C) T 1,500
(D) 2,000

In the given diagram, PL bisects

ZQPR of A PQR and L lies on QR.
If mZQ = 70° and mZLPR = 28°,
then what is mZPLQ ?

P

Q L R
(A) 52°
(B) 56°
(C) 68°

(D) 82°

Qe RIAAD qi® / SPACE FOR ROUGH WORK
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100.

Q@ 9666, CQaa PQ W& Qug |
C, C, 8 C, Qa Gsai6Q 6@Q
deesd K, L 8 M N8° @ 69

64 PQ Q969 2egs 1C,C, 8C,
Qa 649 aQd A 18w, 41 8
on 62.9. 6Q6A, C, Q@ QY
686G 62.9. 2

(A) 8n (B) 7n
(C) 6m (D) 5m
ABCD QInQae Geea «g AC

3 BD 994§ ‘O’ @96 69
@Qf | 90 E, F, G 99" H 2aIass!

AO, DO, CO & BO @ d4@Q
QAQ], 666@ (EF + FG + GH + HE)
3 (AD + DC + CB + BA) 9 2Qale
6R6G 6QQ ?

(A) 1:2
(C) 3:4

(B) 2:3
(D) 4:5

100.

WtsApp/Call- 8596976190

In the given diagram, PQ is a
diameter of the circle C. K, L and M
are the centres of the circles C,, C,

and C, respectively and the said

points are situated on PQ. If the
circumferences of the circles C, CI

and C2 are 18w, 41w and 6T cm

respectively, then what 1is the
circumference of the circle C; in cm ?

(A) 8n (B) 7=m
(©) e6n (D) Sm

ABCD is a parallelogram and the

diagonals AC and BD intersect at
‘O’. If E, F, G and H are the mid-

points of AO, DO, CO and BO
respectively, then what is the ratio of
(EF + FG + GH + HE) and (AD +

DC + CB + BA) ?
(A 1:2 (B) 2:3

(C) 3:4 D) 4:5

13 QAR dia / SPACE FOR ROUGH WORK
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SET :| A OTET/I/15
101. GQ&@ ABC 66 AM SRINAIQ ARINGQ 101. In triangle ABC, AM is the median
R, BR 3 AC aageq ‘S’ @@66} and R is the mid-point of AM, BR
6ge @G, 606@ QY Q66 AS and AC intersect each other at S.
Qe AR ? Which of the following is equal to AS ?
1 1 1 1
(A) 7 AC (B) EAC (A) 5AC (B) 3AC
I 3 1 3
(©) 7AC (D) AC © ZAC (D) AC
102. AABC ~ ADEF, AB = 9.1 69.9. 102. AABC ~ ADEF, AB = 9.1 ¢cm and
\d9° DE = 6.5 62.9. | 98 ADEF 9 DE = 6.5 cm, if the perimeter of
Qe 25 6a.8. @9, 6669 ADEF = 25 cm, what is the perimeter
- - — = 9
AABC 98219l 6666 62.8. 2 QLB flon.]
(A) 35 (B) 28 (A) 35 (B) 28
< 42 (D) 40 (C) 42 (D) 40
103. 90 QNG GQER AT AFAIR 103. If the ratio of the areas of two
Qe @@Q QAR @ﬁ Qo alallly triangles is equal to the ratio of their
dQdies 4 dale @, 6069 bases, then what is the ratio of their
6dflieer  dQeld REELTY Q48! corresponding heights ?
dQdle 6a6% ?
(A} 2zl (B) 1:2
(AN2: 1 (By 1:2
(©) 4:3 D) 1:1 () 4 (D) 1:d

Q< QoD di@ / SPACE FOR ROUGH WORK
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105.
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0aogsa 2 69.4. a1d QI G4y
N Qd68g €66 G66YR Q1Y
QY 69R QRIS uSQa U@Te
6QIRE | TREQ e <If Qlgel
R4y gmba 98 69108 G Qlg
faslee Qe odaRg |
BALIETE 6D0Q /TR 6966 Q6
69.61. ?

(A) 2m—4
(C) 4-m

(B) 4-2n
(D) n-4

digdfie Qeuadeq ode aeldel
Q96 SIgq ?

(A) 60200 @At  Hdeq
QR QYAQIR

(B) 6de ®e Q0 Qf G99
afalgla

(C) ¢dca Feq Qdl g

(D) 6&e #®Ie 00l dIOYRNER

el dqy Gag gf 6Qe AIQ

104.

10S.

WtsApp/Call- 8596976190

—_

In the given figure, each side of the
square is 2 cm long. Four semicircles
are drawn inside the square taking
each of the sides as diameter. Thus a
flower of four petals is formed which
is shown by shading. What is the

area of the shaded region in sq.cm ?

(A) 2n-4 (B) 4-2=n

€ 4-m (D) ®w-4

Why should mathematics be taught
in primary schools ?

(A) Too much use of mathematics
in daily life.

(B) Higher education is impossible
without the knowledge of
mathematics.

(C) Mathematics has its own

language.

(D) Other  subjects in  the
curriculum cannot be
understood without

mathematical knowledge.

Qe RI99R YR / SPACE FOR ROUGH WORK
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SET : | A | OTET/I/15
106. d2die QoueRg dloyansa 2ol 106. With what subject in the primary
3210} Gag 49 ©doa AQ-rae school curriculum has mathematics
ag ? correlation ?
(A) ARIQE HIQ (A) General Science
(B) 98604 2R (B) Environmental Studies
(C) Qi&@e Qo (C)  Social Studies
(D) « 491g (D) All of these
107. (a + b)? = 6866 ? 9§ 9gF @dc 107. (a +b)* = How much ?
JNa  66Q Q60 Q69 This question is based on which
ARG ? objective of teaching mathematics ?
(A) ®IR (A) Knowledge
(B) 691 (B) Understanding
(C) 9699 (C) Application
(D) < a9g (D) All of these
108. 666 G896 ollf &g &g 108. A teacher constructed four different
QQ@@a @Q @6m | 64g 3aa quadrilaterals. Measured their angles
5@@@@9 ag @8 @@@9@ and arrived at the conclusion relating
Q61T BRIGQ 19 clkusa e to the relation between measures of
ANG6Q QAAMG 6Q6M | 69 G180 four angles of a quadrilateral. What
JQ19 AR 689 AT ASRAS method of teaching mathematics did
a6m ? i he follow ?
(A) Q6gae (A) Analysis
(B) <6¢ <6l (B) Synthesis
(C) el (C) Induction
(D) dQ6EQAUQ (D) Deduction

Q<P QAR die /SPACE FOR ROUGH WORK
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OTET/I/15 SET:| A
109. €lafia gasa @UdG arinel AR 109. What method is adopted for teaching
6@ I86 QAR KAl ? Geometry at the primary stage ?

(A) Q6494 3 TELTE (A) Analysis and Synthesis
(B) 26QIQ B AREAIQ (B) Induction and Deduction

= (C) Analysis and Induction
(C) Q6 G a6

(D) Induction and Synthesis
(D) ueQly G eIVl

110. 66896 S1&G A0y AYREQ Qe ? 110. What is not there in mathematics text

~ book ?
(A) QLY dglQnT
(A) Worked out problems
(B) dY4d 99w
(B) Practice problems
(C) <Té A6
(C) Methods of learning

(D) @GR GG 8 el _
’ (D) Geometrical figures and graphs

111. A96a GuaRdel 6de QIR 111. Which of the following methods of
600 906 ada @@-6@@@ &6e., ? teaching mathematics is more child
(A) G694 centred ?

(B) 6494 (A) Analysis
(B) Synthesis
(C) 2BUG-TREAIQ

(C) Inductive-deductive

D) a1el
L) (D) Play way

Qe AR 4gie@ / SPACE FOR ROUGH WORK
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OLLL o | A VILL/Y1D
112. 30 Q Q§@@1 o QeMe 112. The counting number preceeding 30 is
Q@ gela 9 ? __. What type of question is it ?
(A) 4R Q9 gha (A) Short answer type
(B) 4<9de gna (B) Completion type
(C) @Qﬂ@ RS (C) Recognition type
(D) QQeaR (D) Multiple choice
113. G911 69419 666N &gl gé@ 113. A child of class II regularly makes
9896 QIR QR ©QF | mistake in multiplication. To know
QIR @04 fldedln & 98IQ its cause, what type of test is to be
A eqde 2 done ?
(A) 60@ e (A) Formative
(B) @61 (B) Achievement
(C) Yae (C) Unit
(D) 6RQIGa (D) Diagnostic
114. 566 gle, Qg 8 Fgn ale6a 114. A pupil is able to draw geometrical
QUIAGE @Q 3 oi?  AerR figures and graphs neatly and
@Galges | 62 ¢de dada correctly. What objective of teaching
66@ MY QI4M @@@q@? mathematics has he achieved ?
(A) Rl (A) Knowledge
(B) 6 (B) Understanding
(©) &@Q9e (C)  Psycho-motor
(D) < 4919 (D) Allof these

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

115.

116.

117.

L X2 X3 Xveonvons X 20 x 30 @

QOITRR 699 QISIER 6R6GIE 0

(99) 2g 7
(A) 7 B) 5
© 9 (D) 10

QRE @fe ugg Teue Qe

Q686 O, @69)] 68Q EIQIQ

Q90 GaIgY ?
(A) 3 B) 6
L 7 (D) 8

2 4
g@ cLlole QEmIN B gleliga

QBRI GéTFR 6860 ?

(A) 2 (B) -1

<) o (D) =2

115.

116.

his A

WtsApp/Call- 8596976190

L
What is the number of 0’s (zeroes)

that occur at the last part of the
productof 1 X 2 X 3 X.......... X 29 x
302

(A) 7 (B) 5

<© 9 (D) 10

By which of the following numbers
the difference between the squares of
the two consecutive odd numbers is

always divisible ?
A) 3 (B) 6

<o 7 (D) 8

What is the product of the additive

inverse and multiplicative inverse of

?

w9

A) 2 B) -1

<G o (D) -2
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SET :| A |

118.

119.

120.

10 @¥ g68 ¢I9RQ QA4 UL
9429 Qrgd R | 98 10 @
d6a €99 @4d 40 @F 6Q%,

6068 d8da  Qesle Q49
6R60 7

(A) 20 (B) 10

(C) 30 (D) 15

QO x(x+y+2)=26,y(x+y+2z)=19
NQ° z(x +y + z) = 124 @4, 606Q xQ
Ao 6866 6QQ ?

(A) 5 (B) 4

(L) 3 )y 2

7" = K 68669, ‘K’ Alfl 59g 629
Al 606@, ‘n’ N6 Jaee s
6QQ ?

(A) 543 (B) 839

(C) 1983 (D) 2401

118.

119.

120.

WtsApp/Call- 8596976190

OTET//15

10 years ago the age of Sachin was
twice the age of Ajaya. If 10 years
hence, Sachin will be 40 years old,

then what is the present age of Ajaya ?

(A) 20 (B) 10

(©) 30 (D) 15

Ifx(x+y+z)=26,yx+y+2z)=19
and z(x + y + z) = 124, then what is

the value of x ?
(A) S5 (B) 4

=y 3 () 2

For what value of ‘K’ in 7" = K, ‘n’

will be a Natural number ?

(A) 543 (B) 839

(C) 1983 (D) 2401

[
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(ENVIRONMENTAL SCIENCE)

121.

122,

123.

29 QAGYER 686 64éNg 6
6gen  adiq @®e 3 aEe
ARIee <@  AAREe  aloyad,
AR GRIQ Ql6e A6l ARAG ?
(A) 9619 8 9gd

B) ©9d 8 agg

(©) o1 q 9gd

(D) Qog Q Q&9

s 60Q 09 dagla  Q9g
dasa 09 8 qfa 2ed AR
6QIRAIN 2

(A) §R 216 69956699 23
(B) ©6299 223 Alg 21
(C) 6996699 23 G A% 21
(D) §R 213 86279 22

——

1 kg 94RQAEY @ AeARIQS
Qg AN6R QF dQ 30° 6RIEER
ARG AACRER S0 cm  6IT6A

QMGG Iy 6860 @R 699 ?

121. From which class to which class in
our State are Science and Social
Science integrated as Environmental

Science in the curriculum ?
(A) Class —III & Class — IV
(B) Class -1V & Class -V
(C) Class —1IIto Class — IV

(D) Class —III to Class =V

122. On which days the durations of the
day and the night are equal at all
places on the earth ?

(A) 21 June & 23 September
(B) 22 December & 21 March
(C) 23 September & 21 March

(D) 21 June & 22 December

123. How much joule of work shall be
done by a rectangular object of mass
1 kg when it slides down 50 cm on
an inclined plane making an angle of

30° with the horizontal ground ?

(g=10m/s?) (g=10m/s%)
(A) 5\[3 (B) 5 (A) 53 B) 5
5
©) % D) 2.5 © 3 D) 2.5
53 P.T.O.
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124. G661 QUG ‘A’ 0lg QIQIG Feq 0F 124. A person started from ‘A’ and covered
Q¢ Go6a 2]l ARl QIgI6Q 5 km a distance of 5 km on a straight road
66 @6 ‘B’ 0169 9QfsR | 62019 exactly on his left and reached ‘B’.
663 a4 eIQla docq Fel From there he moved a distance of

ARUIE TR QISR 12 km af 12 km on another straight road exactly

@8 ‘C’ gasa 9Q8sR | ‘A’ 09
‘C’ adig C1eQ 9gITR 6966 ?

on his right and reached ‘C’. What is

his displacement from ‘A’ to ‘C” ?

(A) S5km (B) 12km

(A) Skm (B) 12km

(C) 13km (D) 17km (©) 13km (D) 17km
125. QoA LI @R 125. Tron sheets used for making roofs are

AQIP0R QIR 6RE6R 6Md coated with which one ?

PAAREAN ? (A) Al (B) Sn

(A) Al (B) Sn (€©) Zn (D) Pb

(€) Zn (D) Pb

126. () <8 <0da deAle <6 126. (i) The melting point and the

liquefaction point of a

CAmlar @l 266’ | substance are the same.

(i) e AQ19a) %gmg,}a qQ° (i) The boiling point and the
~ freezing point of a substance
QA& @] 26¢ | )

arc the same.
(iii) & A1 6Rea QdlQ o° (iii)) The product of melting and that

of liquefaction are the same.
AN QIR &l A6 |

Out of the above :

@Qdsole, Q) : (A) (i) is correct; (i) & (iii) are
(A) (i) 08, (i) G (iii) @A WO
i (B) (i) is correct; (1) & (iii) are
(B) (i) 0@, (i) G (iii) QR -
(©) (i) O&, (i) 8 (ii) QR (C) (i) is correct; (i) & (ii) are
wrong.

(D) (G, (i) @ (iii) QA

(D) (i), (i1) & (iii) are wrong.

54 Contd.
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128.

Download Tech Of World App

o6R G6RI6 Qg GG :
(i) a96Q¢, aQwrge on 6106 |

(i) dNEQE, QO 660 e°
ACIFe QAR 668 9B
6106 |

(iii) 906Q¢, Qad ANGe e°

defe Quiolr 689 63R
610G |

QU6 NY :

(A) () 0% \9° (i) G (i) QR

(B) (i) O] ~1e° (i) 8 (iii) QA

(©) (iii) O] <e° (i) G (i) QN

(D) (), (i) B (iii) G

dlaifie Geurggeass Gaudiae
Aise 9999 99896 9]-99,
AlPIBR IAREE 6QIRAN | QIR
Alae Qg B691q Jig 6896
Q6SIa QARIAT 2GS 2

(A) 69Q-AF

(B) €64l QaIq

(C) 698" 69R

D) 99 98

127.

128.

[ S

Three statements are given below :
(1) Ecosystems constitute the

environment.

(i) Both biological and social
elements constitute the
environment.

(iii) Both  social and  natural
elements constitute the
environment.

Out of the above :

(A) (1) is correct and (ii) and (iii)

are wrong.

(B) (ii) is correct and (i) and (iii)

arc wrong.

(C) (i) is correct and (i) and (ii) are

wrong.

(D) (1), (i1) and (iii) are wrong.

In the primary schools cleanliness

among children 1is observed in

different degrees. Which one of the
following tools is most suitable to
measure it ?

(A) Check-list

(B) Case-study

(C) Rating scale

(D) Questionnaire

WtsApp/Call- 8596976190
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129. 6046 o] QAARe 99 AQ
TAGe Q69 ?
(A) 9gEE 996 @Rl 26aaIe
Q6 G AR |
(B) Q@9 6AfQ 8 gAUeedIR
QQAAIE, AREUS Q4 |
(C) A Feq Qe SqrI
Q] @aad |
(D) JAUEFRER  MNF-FFSI AL
Q2N |

130. G161, QI0YRS 900%  ARIAEH
AN Qp Clde 694196
ANER GHe QAR 68A6q
UQ9q @aldlR QI 2
(A) aR6Q¢ QIR
(B) 966l
(© @GQId

(D) QUGG SRR

131. 68Q6 QACQ A6l I
6818 QI ?

(A) 9ftIRQ AR

(B) RA AN AL

(C) QLG UBLIRR

(D) oY G9Q

129.

130.

131.

WtsApp/Call- 8596976190

Which is not associated with the

Long Answer Type Questions ?

(A) Question

relatively easy and simple.

preparation is

(B) More time is required to write
the answer and for its

assessment.

(C) The examinee expresses his

independent thinking.

(D) There is no subjectivity in

assessment.

Which is not included in Social
Science at the Upper Primary classes
of our state according to the National

Curriculum Framework, 2005 ?
(A) Environmental Science
(B) Geography

(C) History

(D) Political Science

Which was the last phase of the

Indian Freedom Struggle ?
(A) Champaran Movement
(B) Civil Disobedience Movement

(C) Non-Cooperation Movement

(D) August Revolution
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132. QRIGQR 686 7I6R 6109 @QE6M ?
(A) Q8-8/51401QIR9I6R
(B) @RIk 66l
(C) dRIAREIM 66l

(D) 20eae 6aId 66l

133. QISE1E &9 PQIgr QA dQIR

@Qdsm ?

(A) Q9] 6l
(B) @BAG A98IQ
(C) QeIeRle 0I§9

(D) AR ARUG QUL

134. 2d0R Q06 UHE 69l 26y

RIQIQ AQAG QS ?
(A) Q1996
(B) QUIKAQ]
(©) QIgad

(D) QAQUFAS

132.

133.

134.

WtsApp/Call- 8596976190

- 1

Who did form the Swaraj Party ?

(A) Militant Nationalists
(B) Khilafathists
(C) Pro-Changers

(D) No-Changers

Who did confer the title ‘Mahatma’

on Gandhiji ?

(A) Frontier Gandhi

(B) British Government
(C) Rabindranath Tagore

(D) Lala Lajpat Rai

Whose prior permission is necessary
before introduction of the Money Bill

in the Parliament ?
(A) Speaker
(B) Prime Minister

(C) President

(D) Vice-President
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aem e am ~ masns e
135. 3¢ QA g@@@@ JAG 60Q 135. Which Court has the power to review
its own judgement ?

YR 998 ?
Anda Qg (A) Supreme Court

(A) QUYL UIAINL
(B) High Court
(B) Q9 Quind

©) &al 98 sold (C) District Judge Court

(D) 99-8% salg (D) Sub-Judge Court

136. 6060 901 QI QA @4 136. By which river valley is the South

Qae aIn &ﬁ @ﬁ) Q5169 @@@ Indian Plateau bifurcated into two

segments ?

6QIRAG ?
(A) 9I0IRG1 (A) The Mahanadi
(B) odol (B) The Narmada
(C) 64l (C) The Godavari
(D) 6419 (D) The Son
137. 96468 606 @08 AR @@jﬁ) e 137. Which factor is mainly responsible
ueIe 69 RIR 2169 < aa@ for hlgher range of temperature at
Delhi than that of Chennai ?
Qe ?
(B) Q90! (B) Altitude
(C) 4920l QG (C) Distance from the Sea
(D) @QIQQO@ Ll (D) Distance from the Himalayas

AR Contd.
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138. QJaie QY6169 - 138. On the basis of rainfall -
AQIRERGR : L6l : : AlGFERIRY : . Mahabaleshwar : Pune : : Mangalore:
(A) 6QwImQ (A) Bengaluru
(B) fI€Q (B) Karwar
(C) 618 (C) Kochi
(D) dl€liaT (D) Panaji
139. Q9M QAR 606 RS 6IGA) 139. Which river valley project is on the
Q%8 7 river Chambal ?
(A) 661G aleq (A)  Govind Sagar
(B) 9|61|@i@ 1610 (B) Nagarjun Sagar
(C) Qldigdeld di6i (C) Rana Pratap Sagar
(D) 9CIa AR (D) Sardar Sarovar
140. 6296 Y& Jdeq AR @LSQ"‘ 9 140. Which one is not a cash crop ?
(A) g (A) Sugarcane
(B) 9&l (B) Maize
(€) @dl (C) Cotton
(D) 6816 (D) Jute
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141. Q6gllg 68RE 69latq 0@ @l 141. Which of the following cannot be

odiain ade 9@* 0 properly shown on a globe ?

_ (A) Small land forms
(") 599790
R (B) Direction
(B) @¢l
(C) Location
(C) Uege
(D) Shape of the continents

(D) 91QI6Q4 §8aaq ARG

142. 686" 9919 99 age 9@l 96w 142. Which of the following types of
G ang <leasy @% JRIEe @6 questions is difficult and time taking
i “ to prepare but its evaluation is quick,

1 s )
AR O Qee SQImd correct and easy ?

(A) @g@@% R (A) Multiple choice type
(B) %@@@Q %@@ (B) Short answer type
(C) G2 Q9 IR (C) Very short answer type
(D) Q1d Qa9 A (D) Long answer type
143. 6961 QR V' QU4 L9N6R 143. Which of the following is the best
ds0n e ﬁgl@@@ 666 A86F method of teaching “V’ shaped valley

e in the classroom ?
QeI ?

(A) 8¢ 904¢a (A) Displaying picture

B) afad gode (B) Displaying model

(C) 2Rl (C) Discussion

(D) 6REITe 90e (D) Displaying graphical diagrams
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144. 666 6QIQIT 2ANREG ? 144, Which is the unrelated pair ?
A) do- Sanlally (A) Ghee - Fats
(B) @R -IQAQ (B) Dal — Minerals
(C) 6QIYeQ - g@@l@ (C) Soyabean — Proteins
(D) R —6g04IR (D) Potato — Carbohydrates
145. 6066 6GQ 2GRl Q6 ? 145. Which is not bio-waste ?
(A)  &loly (A) Paper
(B) 2QQl6Ial (B) Vegetable peels
(€) 66llQQ (C) Cow-dung
(D) UG (D) Shg
146. 6666 aﬂﬁzﬁa alella &59“' ) 146. What is not the effect of acid rain ?
(A) 9189 Q96! QI (A) Loss of soil fertility
(B) SR9Q& UG (B) Destruction of eggs of aquatic
N animals
(©) el Q&
(C) Algal bloom
(D) YRR GaAQY 6QQ! e
(D) Danger to buildings
147. 6@G6 QIQIQ AAGIUAQA QIS 147. Which one can taste with its entire
@1§a16Q ? body ?
(A) ﬂ%ﬂl@ (A) Honeybee
(B) g (B) Housefly
© g (C) Fish
(D) ey (D) Fruitfly
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[ 5 BVES § .l iR I WALV LY

148. @@@@@ @@ 661‘\@ GJL Q92 - 148. Read the statements and indicate the

& correct one :
(i) QA0 QsIRRQIA AN LS (1)  Plants release water vapour by
Alfalaryale) u@q@g @69 | transpiration to atmosphere.

_ (i1) Resin is a plant product.
(i) G4l Y& QQae aald |
(iii) Non-flowering plants propagate

(i) AIYR  QReEQ  ABQIQl by seeds.

Q@@%'a 42;\‘1 | (A) (i) and (ii) are correct but (iii)
(&) () @ (i) 0] @9 (i) @A 18 wrong.
(B) (ii) and (iii) are correct but (i)

(B) (i) G (iii) 0/ @q () 9A is wrong.
(©) (i) 8 (i) Of @%(ii) QR (C) (i) and (iii) are correct but (ii) is
wrong.

(D) (D), (i) G (iii) @ (D) (i), (ii) and (iii) are wrong.

149. Q6a6'q : QEIAR-D:: Q& 149. Rickets : Vitamin-D : : Scurvy:__
\Ql 686 9eIe 99 969 ? What type of question is not it ?
(A) @%ﬁ@o (A) Objective type
(B) @@@ RlolNe [ (B) Fixed response type
(€) Qe gIge 9Ra (C)  Analogy type
(D) 9498 909 (D) Selective type
150. 696 @RI Qam daidisaLg 150. Which teaching method is not child
GJSQQ ? centred ?
(A) 90dia (A) Demonstration
(B) dugé (B) Experimentation
(C) ddisasdl (C) Observation
(D) dew (D) Project
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